1. 4 =AFIE 0, 1, 2, 3004 37482 Hol v off, 210 2o} & A4
SRS SN

@D 87 ® 971 ® 1174 @ 1270 ® 1470



oFF 29 o] EHe 8T FAA
WA B At 1A B A

@ 487}A] @ 120714 ® 336714

@ 360714 3 7207}A



S % DABCD 7} BAA
=z

3 s
oEFGH 7} H3jAtAg o] 5= =4

7

R

® EH=FG

@ (FEG = /FGH

® EH =FG, EF = HG

@ (EFG = (GHE, (FEH = /FGH

® HG = HE, FG = HG



4.

o} 4] Z}EH e
R g 7EA]RI71?

@ 6 7H4]
@ 18 7}A

ZFo] FF=of| A A Ao 7}
57} 4 o] W7t Bl

® 12 714

CE
=

.&.
T



Oa 2dolM Mz wadl
Z

21017 L7

@O AFDC @ AABC
@ AADE @ AFBE
® AADE ™ AABC
@ AEBC @ AEDC

B AFDC o AADE

@]




